SUPPLEMENTARY MATERIAL: HOSPITALIZATION AND MORTALITY FOLLOWING NON-ATTENDANCE FOR
HEMODIALYSIS ACCORDING TO DIALYSIS DAY OF THE WEEK: A EUROPEAN COHORT STUDY

Figure S1. Country specific non-attendance rates according to session of the dialysis week.

Patients Dialysis Monday/Wednesday/Friday Tuesday/Thursday/Saturday
Sessions —&— -
United Kingdom 1,017 379,093 Pe -
France 79 29,302 —o— ——
Italy 510 232,015 - *
Spain 2,257 879,521 ° o
Poland 86 32,164 o -o-
Ireland 22 10,236 P — ————
Portugal 2,160 1,116,622 ° °
Hungary 554 227,680 - -
Czech Republic 609 243,533 ‘e P
Romania 439 221,091 ° -
Turkey 1,397 487,826 ° °
Slovak Republic 8 3,715 ° P —
Slovenia 81 48,071 —e— —e—
Russia 94 59,397 —o- —o—
Serbia 84 44 187 &* o
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Figure S2. Comparison of hazard associated with non-compliance according to dialysis day of
the week based on primary analysis, with established changes in dialysis schedules excluded,
and censoring at first rearranged dialysis session. Black: Monday/Wednesday/Friday patients,

Grey: Tuesday/Thursday/Saturday patients.
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Risk of dying according to if a patient has attended or not attended for dialysis

Statistical justification

Let 4;; be the risk of dying for individual i on day t.

Assume a model of the form

6
Te=R+at ) WD+ B, g(0)

K=1

7;¢ is the linear function using a link function which is either log for a Poisson error function or Logistic
for binomial error function. i.e. for a

W Dy, is a weekday dummy for day k with Wednesday as the baseline.

g(t) is a function of time

Assume a M/W/F schedule

g(t) = 1if tisaTue, Thu, Sat and patient did not attend day t,t — 1
g(t) = 1if tis a Wed, Fri, Sun and patient did not attend day ¢, t — 2
g(t) = 1if tis a Mon and patient did not attend day ¢,t — 3

g(t) = 0 otherwise

For a T/T/S schedule

g(t) = 1if tisa Wed, Fri, Sun and patient did not attend day ¢, t — 1
g(t) = 1if tisa Thurs, Sat, Mon and patient did not attend day ¢, t — 2
g(t) = 1if tisaTue and patient did not attend day ¢, t — 3

g(t) = 0 otherwise

Likelihood
For patient i attime ¢

Let Pyt =The probability of dying when not at risk (ie g(t) = 0)
Pgti =The probability of dying when at risk (ie g(t) = 1)

Assume, for present, a; is constant and no weekday effect from model

le. Yie =u+p g(t)

Using a log link log(Py) = u
log(Pg) = u+ B



Let N; be the number of days the patient is observed
N;
Let Ng; = 22,9 () , Nyi = Ny — Ng;

Np; is the number of exposed days for patient i
Ny; is the number of not exposed days for patient i

If patient i dies on a day not exposed, probability of event is proportional to
li = Py(1 = Py)"Nim1 (1 — Pp)Nri

i.e. they die on one day, they don’t die on Ny;_;other not exposed days and Ny; exposed days.

If a patient i dies on an exposed day
li= Py(1— PN)NNi(l - PR)NR‘_1
If a patient i does not die on an exposed day

li = PN(1 - PN)NNi(l - PR)NRi

Let Dg number of deaths on an exposed day
Dy number of deaths on a not exposed day

D = Dp + Dy N =Number of patients

Then log likelihood is
Dy

logl = Z log Py + (Ny; — 1) log(1 — Py) +log (1 — Pg)

=1

DN+Dg
+ ) logPo+ (Nw)1og(1 = Py) + (N = Dlog (1= Py)
i=Dy+1
N
+ Z Nyilog(1 — Py) + Ng;log (1 — Py
i=DN+Dgp+1

If you differentiate with respect to Pyand Py and equate to zero you find after a bit of algebra

D D
N nd R

Pyv=———a = —
N N N
i=1 Vi i=1 Nri

i.e. The risk of dying for someone not exposed is the number of deaths in the not exposed divided by
the number of days not exposed and similarly for the number in the exposed group



